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=X 1 71 1 F%H 2 FRIHA 2 F1RHA =
AFE 200,000 200,000
=R 420,000H 420,000H 420,000 420,000 1,680,000
MERMERFE 150,000 150,000 300,000
BME - 1B 220,000H 90,000H 310,000H
= 200000 790000 420000H 6600004 420000H 2,490,000
BREE N—ry/a—-XR-F77=2Hh)La—2X

=X 1 71 1 F1%4H8 2 FRIHA 2 F12HA =
AFE 200,000H 200,000H
=R 400,000 400,000 400,000H 400,000H 1,600,000
MR MERTE 150,000 150,000 300,000
BME - o 200,000H 90,000H 290,000H
=1l 200,000H 750,000H 400,000 640,000 400,000H 2,390,000H
f—&lEa—TFT4—F Ea—FT4—ZARYvURXR+O2—2X

Bk 1 FH1HA 1 F%H 2 FaIHA 2 F1RHA =
AFE 200,000H 200,000H
=R 420,000 420,000H 420,000H 420,000H 168,0000H
MBRZAERFE 200,000H 150,000 350000
BME - fth 210,000MH 50,000 260,000
=1l 200,000H 830000 420000 620000H 4200004 2,490,000H
NTAA TR ~ATAA 7 3—X

=X 1 71 1 F%H 2 FRIHA 2 F1RHA =
AFE 200,000MH 200,000H
RER 420,000 420,000 420,000H 420,000H 168,0000H
MBRZAERFE 200,000 150,000 350000
BME - fth 210,000H 50,000 260,000H
=1l 200,000H 830,000H 420,000 620,000 420,000H 2,490,000H




